
(4.1)
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tLGia~~nc~u~aJwIubc~aL:a9  f,(x) = d&&y  I&(X,) +  g,(x,)  +  +&$x,)1

Td&l~l  &l
XI

x,+x2+...+x, =  x (4.2)

x  =  0.1.2  ,..., b
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x:  =
k=2

I I

2. nl5Fh~asULs¶JIJfhPM&!  (Backward) 9-15~?7nnlT~7dl~~~~~~~~~~~~

n, n-l, n-2 ,....  1 RIU~I~II

ii&a  fj(X)  = dlG%+l [gj(xj)+ . . . +g,_,(x,.,)+g.(x,))
‘j

-i rnfJi&ilfY~  xj+...+x,.,+x,  =  x (4.5)

x = 0,1,2  ,...,  b

f,(x)  = d&h
x j  =  0,1,:..,x

(P,(Xj)  + f,+,(x  -xj,l

x=01.  b, , ..,

LLRt dj(x)  ‘= FillEN  xj  +%hWouunu  fj(x)

LdElj  = 1

(4.6)

f,(x) = cili%+l [g,(x,) + f2(x  - x,,J
x,  = O,l(...(  x
x = O,l,...,b
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d,(x) :: 'Fil"uD9  x1 ?iih@lOlJUWU  f,(x)

afhl  x =  b

f , ( b )  == +i&ii%fm  [g,(q)+  f,(b  -x,,]
x, = O,l,.‘..,b
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ilW?M’rlU x j  0 1 2 3 4 5 6

g,(x,) 0 20 40 7 5 90 95 100

gz(x2) 0 15 30 60 ‘85 9 2 ’ 1 0 5

g,(x3) 0 15 40 80 8 5 90 95

~4u’nnaTa=nJvluaMrclajn7T1Hu  oh~1Cn~trfkw&%kp
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x2

Tx

0

1

2

3

4

5

6

wwauunuaau  =  g,(x,)  +  f,(x  - x,)
f,(x) d,(x)

0 1 2 3 4 5 6

0 0 0

15 15 15 0 9940 1

40 30 30 40 0

80 55 45 60 80 0

85 95 70 75 85 95 1

90 100 110 100 100 92 110 2

95 105 115 140 125 107 105 140 3

OR 233 257
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Ht-I618PlllWldl%l  = g,(x,)  + f,(6  - x,)
f,(x) d,(x)

6 140 130 135 155 130 110 100 155 3
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I
g,(O)+ f,(2) = 0+40  = 40

= e;lpp g,(l)+f,(l) =  IS+  1 5  = 3 0

g,(2) + f,(O) = 30+ 0 = 301

= 40

d,(2) = 0

= fi1ptp
gz(2)+f,(3)  = 30+80 = 1 1 0

g,(3) +  f,(2)  =  60+40 =  1001 g,(5)+  g,(4)+f,(l)  f,(O) = = 92+  85+15  0= = 92 100

= 110

d,(5) = 2
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g,(O)+f,(6)  =  0 +  140,  =  1 4 0

g,(l)+ f*(5)  = 20+  110 = 130

g,(2)+ f*(4) = 40+95 = 135

= c;lpyl g,(3)+f,(3)  =  75+80 =  1 5 5

g,(4)+f,(2)  =  90+40  =  1 3 0

g,(5)+f*(l)  =  95+15 =  1 1 0

g,(6)+f,(b)  =  lOO+O =  1 0 0

= 155
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0 0 0 0

3 S 4 2

6 7 8 6

9 9 12 8

12 1 0 12 9

14 1 0 12 10

IS 1 0 12 10
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X3
LX

X2

\x

0

1
I

::
41
5’

6

x‘$=x 0I 1 2 3 4 5 6

L(x) 0I 2 6 8 9 10 10

&CO IO .l 2 3 4 5 6

“3919~ 2

g3(x3)  + fdx -x3)

0 1 2 3 4 5 6

0

2 4

6 6 8

8 10 10 12

9 12 14 14 12

10 13 16 18 14 12

10 14 17 20 18 14 12

“1319~ 3

&(X2)  + f,(x  - x2)

0 1 2 3 4 5 6

0

4 5

8 9 7

12 13 1 1 9
I

14 17 15 13 10

18 19 19 17 14 10

20 23 21 21 18 14 10

f3W d,(x)

0

4

8

12

14

18

20

fi(X) Mx)

0 0

5 1

9 1

13 1

17 1

19 1 VI502

23 1

0

1

2

3

2 M40 3

3

3
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f,(x) 1 0 80 160 240 320 320

OR 233

d,(x) 1012 3 4 4
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t:
llMROU2  g,(xz) = 120x,, x2 = 0,1,2

f*(x)  = r;lQJ'1fl [ 120x2  + f,(x  -x2)]

X2
LX

x2 < x = 0,1,...,5
x* = 0,1,2

120x,  + f, (x-x,)
0 1 2

0 0

80 120 120

160 200 240 240

240 280 320 320

320 360 400 400

320 440 480 480

&mun"3 g,(x,) = 100x3, X) = 0,1,2

fi(X) Ux)

f,(x) = hpiyl [ 100x3  + fib - x3)]

x3 6  x = 0,1,...,5

k X)  = 0,1,2

100x,  + f, ( x - x ,  i
0 1 2

5

0 0

120 100 120

240 220 200 240

320 340 320 340

400 420 440 440

480 500 520 520

f,(X) d,(x)

b
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“UblOId 4  &(xJ  =  9Oq, x.,  =  0,1,2,3

x=5 L(5)  = cil~~ty  [9ox,+f,(5-x,)]
x,  = 0,1,2,3

90x, + fs (5-x,) 0

0 I 2 3 f4(5) d,(5)

5 520 530 520 510 530 I
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MlFilpp”“9 f: vjxj

j = l
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(4.11)

j = I

y, = 0,1,2  ,..., vnj
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mmii  1 lkmufi  3

fdx) =  48x!,  x3  < [x/2], x  = 0,1,2  ,..., 1 0

xl0 12 3 4 5 6 7 8 9 10

f,(x) 1 0 0 48 48 96 96 144 144 192 192 240

d,(x) 0I 0 1’ 1 2 2 ‘3 3 4 4 5

-

X

\x2

0

1

2

f2(X)

d,(x)

“Ial  2  ii4@lou~  2

f,(x) = * ++yl
0  6  x* < [x /4 ]

[ 112x, + 4(x-4x,)]

x=01. 1 0> . . . .

0 1 2 3 4 5 6 I 8 9 10

0 0 48 48 96 96 144 144 192 192 240

112 112 160 160 208 208 256

224 224 272

0 0 48 48 112 112 160 160 224 224 212

0 0 0 0 1 1 1 1 2 2 2

f,(lO)  = dlgdy  GI [80x,  + f,(lO-  3x,)]
x, = 0,1,2,3

10 272 240 272 240 272 0 M”aO  2
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YJ 0 I 2 3 4 5 6 7 8 9 IO

g,(yJ =: 8O[y,/3] 0 0 0 80 80 80 160 160 160 240 240

g,(h) = 112[~,/4] 0 0 0 0 112 112 112 112 224 224 224

g3(y,) = 48[y,/2] 0 0 48 48 96 96 144 144 192 192 240

OR 233 2 6 9
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jlO I 2 3 4 567 8 9

pc,(j)(;i 1280 1520 1760 2000 2240 2480 2720 2960

EIc,o)-iI  160 320 480 640 800 960

KIO i 2 3 4

f,(K) 1760 1520 1280 1040 0

x,(K) 4 3 2 I 0
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3,040 3,200 3,360' 3,520 2,880 2,880 6

2,800 2,960 3,120 3,280 2,640 2,640 5

1,760 2,720 2,880 3,040 2,400 1,760 0

1,680 2,640 2,800 2,160 1,680 0

1,600 2,560 1,920 1,600 0

1,520 1,680 1,520 0

640 640 0

f,(K) x,(K)
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3 4 5 6 7 8 9 f,(O) x,(O)

0 4,400 4,560 4,080 4,400 4,720 5,040 4,560 4,080 5

a&w BJ.67. n.w. iin. N.U.

2 3 4 5

5 lo 20 25
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PC, ( j )  =  30+120+60x10j-60x10jx~
100

IJIW

b&d = % &-MWI

# am (j) I PC,(j)

1 150+600-600x.05 = 720

2 150+1200-1200x.05 = 1290

3 150+1800-1800x.10 = 1770

4 150+2400-2400x.20 = 2070

5 150+3000~3000x.25 = 2400

EIW)

30

60

90

120

-

K 0 1 2

f,(K) 1290 720 0

xdK) 2 1 0
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3 < K + Z  < 5 ,  K  =  0,1,2,3,4;  Z  = 0,1,2,3,4,5

f3(K)  = ’Filil61Fl

3<K+.?<5
[PC,(Z) + EIC,(K  + Z - 3) + f,(K  + Z - 3))

Z

\ K
0 1 2 3 4’5

- 3060 2820 2460

- 2580 2520 2130 -

- 2010 2040 1830 - -

1290 1470 1350 - - -

750 780 - - - -

f,(K) x,(K)

2460 5

2130 4

t

1830 3

1290 0

750 0

\

Z

K
0 1 2 3 4 5

- 4530 4560

- - 4230 4230 4290

- 3750 3930 3960 3780

- 3180 3450 3660 3450 3270

2460 2880 3180 3150 2940 -

f,(K)

4530

4230

3750

3180

2460

x,(K)

4

3 HTEl4

2

1

0
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f,(O) = dlk=VA  [PC,(Z)+EIC,(Z-4)+f,(Z-4)]
z  =  495

4.5 ~~P~I”I~~~YIP~~ (Replacement Problem)
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RK RP f,(2)
(0

X,(2)

sl
2 30.-9+14 40-3-62+61 36 ~olvl8i
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,
x fdx) d&4

8 5 1 0

9 4 1 0

1 4

1 2

10

1 0

8

f,(x)

1 4

1 0

8

d,(x)

8

9

8

fib) 4(x)

1 8 15 - 1 5 6

1 9 1 3 1 2 1 2 7

- 1 6 1 3 1 3 I

.d
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d,(x)

1 1 9 1 8 20 20 1 8 2 3
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d,(x) 1 8 8 8:

&mm'2  bwil  f&x) Lm: d,(x)

X X2 5 6 7 f2c4 d,(x)

2 19+15=34 17+14=31 3 1 6-

3 17+15=32 16+14=30 14+17=31 30 6

4 15+15=30 17+14=31 18+17=35 3 0 ( 5

iiimu  3.  tmil.f,(x)  km”,  d,(x)
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ltftf  d,(x) = x,

$j+f+f+
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kdw*u2  ImFil  f,(x) = m~ltjd$9l [c&(x,)  + f,(X-X2)) , x=4,5
x2  I 4

wz d,(x)= hwa~  x,c-Ki~1  f*(x)

x 'x2 0 1 2 3 4 f,(x) d,(x)

4. 132 128 125 130 120 132 0

5 132 162 158 155 160 162 1

x,=1,2,3.4

1 2 3 4

30

70 60

95 100 90

128 125 130 120

162 158 155 160

f&4

30

7 0

100

130

162
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286

hlsu~ 2 Uwil  f&l,) = dw+lug"  {c&J  + 700(x,+1,-3)+  f&x2+1*-3))

LLK d&l,)  = dm19  x2 hkil  f&,,

lde %+I,=3,4,5  , x* I5 , $5 3
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1 2

3

4

5

2 1

2

3

4

c,(xJ  + 700(x,+1,-3)  + f&x,+1,-3))  I
_
8700 + 8700 =I7400 17400 d,(O) = 3

10200 + 700 + 7200 = 18100

117OO+ 1400+  5700=18800
-

7200 + 8700 = 15900 13800 d,(l) = 5

87OO+ 700 + 7200 = 16600

10200 + 1400 + 5700 = 17300

117110  +2100  + 0 = 13800

5700 + 8700 = 13400 12300 d,(2) = 3

7200+ 700+ 7200 = 15100

8700 + 1400+ 5700 = 15800

10200 + 2100 = 12300

8700 = 8700 8700 d,(3) = 0

5700 + 700 + 7200 = i3600

7200 + 1400+ 5700 = 11300

8700 + 2100 = 10800 [

MIMI  f,(l,) = thhy {c,(x,)+  700(x,-2)  + f-(x,-2); %ULi!O  x. = 2.3.4.5

bttx  d&l,)  = Pi'WN  x, khbi'l  f,(l,) , I,=0

5 c,(x,)  + 700(x,-2)  + f&x,-Z)} f,(l,) d,(l,)

2 7200+ 17400 = 24600 22500 5

3 8700+ 700+13800  = 23200

4 10200 + 1400+ 12300 = 23900

5 11700+2100+  8700 = 22500

kd%  anon  f,(l,) = 22.500 ci?wi?%%~?ui7qm  heri  d,(l,)  =
u

5 aawnsi1  = 5 &&x,
v

I2 = 5-2 = 3 LLX d,(3)= 0 M~N~I x, = 0 ~&iU I3 = 0 + 3 - 3 = 0 LLR::  d,(O) = 3

aaamsa1  x3 = 0
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